
1+400

1
+

3
0
0

1
+

2
0
0

1+
100

1
+

0
0
0

0
+

9
0
0

0
+

8
0
0

0
+

7
0
0

0
+

6
0

0

0
+

5
0
0

0
+

4
0
0

0
+

3
0
0

0
+

2
0
0

0
+

1
0
0

0
+

0
0
0

L=31.79m

AZ=84.0467
K

M
=1+410.30K

M
=1+381.25

K
M

=
1+

351.25K
M

=
1+

312.16

K
M

=
1
+

2
8
2
.1

6

K
M

=
1
+

2
7
1
.4

5

K
M

=
1
+

2
3
1
.4

5

K
M

=
1
+

1
7
8
.8

3

K
M

=
1
+

1
3
8
.8

3

K
M

=
1
+

0
1
2
.5

2

K
M

=
0
+

9
6
7
.8

2

K
M

=
0
+

6
8
7
.7

8

K
M

=
0
+

6
5
4
.9

4

K
M

=
0
+

6
3
9
.1

7

K
M

=
0
+

5
4
8
.6

2

K
M

=
0
+

4
4
8
.4

2

K
M

=
0
+

3
8
9
.9

1

K
M

=
0
+

3
8
1
.6

5

K
M

=
0
+

3
5
1
.6

5

K
M

=
0
+

3
2
1
.5

1

K
M

=
0
+

2
9
1
.5

1

K
M

=
0
+

2
6
0
.9

1

K
M

=
0
+

1
9
3
.2

7

K
M

=
0
+

1
7
3
.6

7

K
M

=
0
+

0
9
6
.2

2

K
O

N
IEC

 O
PR

A
C

O
W

A
N

IA

PKP

K£K

P£K

K
£K

K
K

P

PK
P

K
£K

P£K

K
£K

P£K

K
£K

P£K

P£K

P£K

P£K

K
£K

K
K

P

PK
P

K
£K

P£K

K
£K

P£K

P
O

C
Z

¥T
E

K
 O

P
R

A
C

O
W

A
N

IA

   
   

   
W

 - 
1   

  

--
--

--
--

--
--

--
--

--
--

X = 3714594.715m

Y = 5603114.432m

alfa
 = -4

.9309 GRAD

T1=38.75m T2=38.75m

L1 L=77.46m R=-1000.00m

   
   

   
W

 - 
2   

  

--
--

--
--

--
--

--
--

--
--

X = 3714686.884m

Y = 5603111.596m

alfa = 8.6117 GRAD

T1=33.87m T2=33.87m

L1 L=67.64m R=500.00m

   
   

   
W

 - 
3   

  

--
--

--
--

--
--

--
--

--
--

X = 3714795.176m

Y = 5603093.450m

alfa = 19.1438 GRAD

T1=45.33m T2=45.33m

K1 L=30.00m A=77.46

L2 L=30.14m R=200.00m

K3 L=30.00m A=77.46

   
   

   
W

 - 
4   

  

--
--

--
--

--
--

--
--

--
--

X = 3714869.185m

Y = 5603056.159m

alfa
 = -7

.4498 GRAD

T1=29.29m T2=29.29m

L1 L=58.51m R=-500.00m

   
   

   
W

 - 
5   

  

--
--

--
--

--
--

--
--

--
--

X = 3715033.385m

Y = 5602996.275m

alfa
 = -4

.8040 GRAD

T1=45.30m T2=45.30m

L1 L=90.55m R=-1200.00m

   
   

   
W

 - 
6   

  

--
--

--
--

--
--

--
--

--
--

X = 3715107.985m

Y = 5602975.287m

alfa = 4.1822 GRAD

T1=16.43m T2=16.43m

L1 L=32.85m R=500.00m    
   

   
W

 - 
7   

  

--
--

--
--

--
--

--
--

--
--

X = 3715408.612m

Y = 5602868.961m

alfa = 11.3820 GRAD

T1=22.41m T2=22.41m

L1 L=44.70m R=250.00m

   
   

   
W

 - 
8   

  

--
--

--
--

--
--

--
--

--
--

X = 3715595.703m

Y = 5602762.154m

alfa
 = -1

9.6527 GRAD

T1=66.71m T2=66.71m

K1 L=40.00m A=109.54

L2 L=52.61m R=-300.00m

K3 L=40.00m A=109.54

   
   

   
W

 - 
9   

  

--
--

--
--

--
--

--
--

--
--

X = 3715720.543m

Y = 5602735.541m

alfa
 = -2

9.3244 GRAD

T1=50.22m T2=50.22m

K1 L=30.00m A=67.08

L2 L=39.09m R=-150.00m

K3 L=30.00m A=67.08

K
M

=
0
+

9
4
2
.8

2

P
O

C
Z

¥
T

E
K

 
P

R
O

S
T

E
J
 
P

R
Z

E
J
�
C

I
O

W
E

J

K
O

N
I
E

C
 
P

R
O

S
T

E
J
 
P

R
Z

E
J
�
C

I
O

W
E

J

K
O

N
I
E

C
 
P

R
O

S
T

E
J
 
P

R
Z

E
J
�
C

I
O

W
E

J

K
M

=
1
+

0
3
7
.5

2
P

O
C

Z
¥
T

E
K

 
P

R
O

S
T

E
J
 
P

R
Z

E
J
�
C

I
O

W
E

J

K
M

=
0
+

0
0
3
.5

6

P£K

K
K

P

P£K K
K

P

K
K

P

PK
P

K
M

=
0+

296.00

K
M

=
0+

355.65

2.0%

2.0%

2.0%

2.0%

2.0%

2.0%

2.0%

2.0%

2.0%

2.5%

2.0%

3.5% 3.5%

2.0%

2.0% 3.0%

3.0%

2.0%

2.0%

2.5%

2.5%

2.0%

2.0%

4.5%

4.5%

2.0%

2.0% 2.0%

3.0%

2.0%

A
-7 D-1 D-1

A
-7

D-1

D
-1

K
M

=
0+

034.00

K
M

=
0+

481.00

K
M

=
0+

514.00

K
M

=
0+

696.00

K
M

=
0+

729.00

K
M

=
0+

971.00

K
M

=
1+

004.00

K
M

=
1+

196.00

K
M

=
1+

229.00

K
M

=1+384.00

4.5%

zagospodarowania

Plan

Inwestor: GMINA flMIGRÓD

ul. Wojska Polskiego 2; flmigród

Temat: 
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